
           7+7=
 5+2+5+2=

     6+6=
  5+  +5+  =

       8+8=
  +   +   +  =

9+9=
   +   +   +  =

6 + 6 = → 5+5 + 1 + 1

7 + 7 = → 5+5 + 2 + 2

8 + 8 = → 5+5 + 3 + 3

9 + 9 = → 5+5 + +

5 + 5 = → 5+5 + +

6 + 7 = → 5+5 + +

7 + 6 = → 5+5 + +

8 + 7 = → 5+5 + +

9 + 6 = → 5+5 + +

2+2=
3+3=
4+4=
5+5=
6+6=
7+7=
8+8=
9+9=
10+10=
5+5=
3+3=
7+7=
9+9=
1+1=
8+8=
4+4=
6+6=
3+3=
4+4=
9+9=
3+3=
5+5=
8+8=
2+2=
7+7=



  

   

  

8 + = 10 2 + = 5

7 + = 10 3 + = 5

6 + = 10 4 + = 5

5 + = 10 3 + = 5

4 + = 10 2 + = 5

Όνομα:______________________
Επίθετο:_____________________

16-7=

7= 6+ 

16-6=10 10-  =  

15-8= 15-  =10 10-  = 

14-7=

7=  + 

14-   =10 10-  =  

8=  + 

Το λεωφορείο έχει 
μέσα 11 μαθητές

Στην πρώτη στάση 
ανέβηκαν 4 παιδιά.

Πόσα παιδιά έχει τώρα 
μέσα στο λεωφορείο;

Υπολογίζω Απαντώ
Μέσα στο λεωφορείο

έχει        παιδιά

Στην δεύτερη  στάση 
κατέβηκαν  3 παιδιά.

Πόσα παιδιά έχει τώρα 
μέσα στο λεωφορείο;

Υπολογίζω Απαντώ
Μέσα στο λεωφορείο

έχει        παιδιά


